TECO

EERF 35D

=%

=7 =
e A

oK
Op
g
i
«*
=
=
»
O
P

14001IR15EIE

1SO

R TRE

01/5
os

Qd*ﬁ'
i

p—

BOSER
REGISTERED

CORT, B 4810

9

IS

.......

a1

|

oy

PRIMARY

/]
N1l

g,
e e~
—— [/ i

- - L - L8 2

L
5

2 iAW

N
(W =i

i

o

|




AEKT % %l

SE

1. B MERF S CNS A JEMEE %
2. 5XHECRY » g5/ » EE » 5 G- PEM (GD?) Fhl/ » IR LFBEEINIRIR -
3.8KA EE@%Z%MF@?I\J@A B v BIR X Baix @ IZEASERINER AMNEL ~ HZ ~ TYESER
Braamel » BE ~ T2~ 5SS

4. RABFATE » LI40%ED (B EFEIZR) RiRZE » JNA] ) 1 MBI EAMN%ED » 2040%EDFEFH FR60%ED -

+....

; HE]

lII'I1|'|

EEENFE AP LR B3 X ©
5. Z AR M miVRB A K SESAE MR » KBRS » BIEE » #iAEniER -
6. 8REEMEE » xhFAERRS » B LLIKMRASBEASEE » KANE -
B HIFER (40%EDZHI) digi HH B2 % ED 2 B %
giﬁﬁ
"Flg 15%ED 25%ED 40%ED 60%ED 100%ED
- ) a
& KW KW KW KW KW
T  mmen —— - . 3 | 25 |22 | 18 | 15 | 6
S 4 3:7 3 2.8 o
13858105
1.0 6.3 9.0 4.5 4 6
EH-160M

10 8.5 7.5 6.3 0.5 6

FEENsaSREdEN H 2 R8% (40%EDZRF)

40%ED

EH-160L 19 13 11 9 7.5 6

200KW]|

200 [ EH-180L 20 17 15 13 11 6

T32KW)| GD2M+GD2L
LIOKW) T (1) C= 2
100 K90KW \ GD?*M EH-200L 30 25 22 | 185 15 6

FErmem ]
T "0 55rW _5
40

45KW

{BGD?M : EiEGD? EH-225M 40 £ 7% 30 29 22 6
GD?L : B#GD?

)

//’}/% :

ﬁ SDKW
H 22KW
(.

i 50 | 40 | 37 | 30 | 25 | 6

(KW) (15KW (FBiEHRE) EH-250M

m TR (. 63 | 50 | 45 | 37 | 33 | 6
‘[e5w, (3) B )R Z A EH-280M | 75 | 63 | 55 | 45 | 37 | 8
e 40%EDHS FHiE 28R

N 5 100 | 85 75 63 50 8
p— i EH-315M
125 | 100 | 90 75 63 8

1
¥ : ERLEA0%EDAZEEEH - iR E M %EDRFA] LLER ERAVEH A

10 20 40 70 100 200 400 700 1,000

ﬂlllll

E AR A AA AB AC AD B BA BB C CA D E ED EE F G GA PS XD

132M-BD-I06| 1 | 216 45 | 250|273 [ 223|178 | — | 212 89 [300| 32 | 80| 60| 74| 10 | 27.5| 35.5| 16.0] 40 | M6
160M-BD-106 254 | 50 | 300|334 | 261|210 — | 250|108 | 330 | 48 | 110 | 90 | 104 | 12 |43.5|51.5|31.5| 63 | M8
160L-BD-I06 | 2 | 254 | 50 | 300|334 | 261 (254 | — | 300|108 | 330| 48 | 110 | 90| 104 | 12 |43.5|51.5|31.5| 63 | M3
180L-BE-106 279 75 [ 355382305279 — | 335|121 360| 6 | 110 90 (104 | 15 [50.0|60.0| 31.0( 63 | M3
200L-BF-110 318 | 80 | 400 | 420 | 339 (305 | — | 365|133 |400| 60 | 140|110 | 134 | 15 |55.0(65.0|40.0] 80 |M10
225M-BG-110 ° 356 | 90 | 450 | 458 | 382 | 311 | — | 375|149 | 450 | 65 | 140 | 110 | 134 | 18 |89.0| 71.0| 40.0| 80 [ M10
250M-B5-116| 4 | 406 | 100 [ 500 (510 | 510|349 | — (425|168 | 540 | 75 [ 140 (110 | 127 | 20 |68.0|81.0(50.0| 100 | M12
280M-B5-116 : 457 1 110 | 560 | 570 | 540 | 419 | 110 | 495 | 190 | 540 | 85 | 170 | 140 | 167 | 24 |77.0(93.0| 50.0| 100 | M12
315M-B5-125 508 | 115 | 615 | 605 | 565 | 457 | 115 | 540 | 216 | 600 | 95 | 170 | 140 | 157 | 24 | 87.0 {103.0] 63.0| 125 | M16

1. 8RB (D, DA) 2 AEA - D: $32~9¢48:k6; $55:m6; DA:K6; D, DA: 960~¢95:m6 2. EHDOEFE(H)ZAEAE  250mmLLF+0,-0.5 280mmLl_E+0, -1
3. LEEESE ﬁﬁﬁ AN SFITEAN ©

i
1




INERYTE :

LC LC AD | AC
PRIMARY PRIMARY
SECONDARY —BOX SECONDARY T—BOX
LEA,  T-BOX / V@ % T-BOX / .i..
ET 5
ES \ i ?E,{-—” = ES / N ED
) —— == - = "
- = — T =
I = = L =
|
. A - | N 1.lr —F = %
— P—— 7
- A CA B C %
e |:r BB -1:‘ KHUﬁE - b .
K HOLE AB
ol YT LU YT FA i F XT
D g 46y j
| ﬁ« PA PA | | PS S
2= YD e TAP7Z o—y =— 2—YE TAP PA[| = 9-¥E TAP —
., _ YLDEEP /| DA, YD YL DEEP /| pa "D |\ XL DEEP XD [\2—XZ
| —
(=] p—
AD
LC LC 5 v 1 AC
ERIMARY PRIMARY
SECONDARY T—BOX SECONDARY T—RC
L EA | T—BOX @ EA T—BOX | _@, T=EOX e
ET r : ET (’ [ :
ES |\ e ES &
0
7
. — -:[ H r th = e
o A 4 - T
| 1L
& ’ujﬁ.,.l‘_._qu .
CA /f+ B | e T ,fﬁ, A{ﬁkﬂ
5 — + A
K HOLE BB | AE
Ly FA Bk ke et L XT
D e Ty ; ]
e YL DEEP /| pA D |\ XL DEEP [ XD \2=XZ = - "D |\ XL DEEP [ XD [\2=XZ
=) — .
[@ o f 4 :! 2 . s — -~ :;‘ijf
LC 3 ‘
SECONDARY PRIMARY AD ] &’
T—BOX T—BOX E AG
£ @, =
=3 ———= | ED
5 W=
|
\

_‘_iT
L

2-=vE TAP /| PPA| X%
YL DEEP” /[ DA D |\ XL DEEP [ XD |\2=XZ

XL XT X2 DA EA ES ET FA GB GC PA YD YE YL YT YZ H HA HD LC K

REf RRBA m
12 | 4 | 7 |32|80|60|74| 10(27.5(355(16.0| 40 |M6 | 12| 4 | 7 |132| 16 |310| 727|120 63092Z | 6308ZZ ¢ |
16 | 5 | 10 | 42 |110| 90 |104 | 12 |37.5|455(250| 50 [M6 | 12 | 4 | 7 |160| 18 | 378 | 868|145 |63112Z| 631022 | *
16 | 5 | 10 | 42 |110| 90 | 104 | 12 |375|455]250| 50 | M6 | 12 | 4 | 7 |160| 18 | 378 | 912| 145] 631122 | 631022 |
16 | 5 | 10 | 48 [110| 90 | 104 | 12 |43.5|51.5(31.5|63 |M8 | 16 | 5 | 10 | 180 | 20 | 422 | 980| 14.5| 6312ZZ | 6310ZZ
20 | 6 | 12 | 55 |110| 90 | 104 | 15 |50.0(60.0|31.5| 63 | M8 | 16 | 5 | 10 |200 | 25 | 470|1088|185| 6314 | 6312
20 | 6 | 12 | 55 |110| 90 | 104 | 15 [50.0|60.0|31.5| 63 | M8 | 16 | 5 | 10 |225| 30 |525|1160|185| 6315 | 6312
25 | 8 | 15 | 60 | 140 | 110|134 | 15 |55.0(65.0{40.0 | 80 |[M10| 20 | 6 | 12 | 250 | 36 | 576 |1337|24.0| 6317 | 6314
24 | 8 | 15 | 70 | 140 | 110|127 | 18 |64.0(76.0{40.0 | 80 |[M10| 20 | 6 | 12 |280 | 36 | 660 |1459|24.0| 6318 | 6316
32 | 10 | 19 | 85 | 170 | 140 [ 157 | 24 |77.0]93.0({50.0 | 100 (M12| 24 | 8 | 15 |315| 40 | 743 |1613|28.0| 6320 | 6318




(SRR — 18RRI\ R AE B IHE
[ > FfRiEHX

=B

AP A
IO

KTAFME (40%ED, 60Hz 220V)

0 R 22

%4 (Kw) 1 | FZHEE | —XE 551 B

B 5% | 25% | 40% | 60% =B
ep | ED | ED | ED | ED [ %] RPM) | (A) A) | (%) | Ke-M2) | (KGS)

132M 3 25 22 18 15 6 1120 12 38 36 0.15 110
132M 5 4 37 3 28 6 1115 17 60 38 0.18 120
160M 75 63 55 45 40 6 1145 22 107 32 0.32 180
160M 10 85 75 63 55 6 1148 29 135 34 0.41 190
60L 15 13 11 9 75 6 1150 45 185 36 0.53 200
180L 20 17 15 13 11 6 1155 58 240 3 o 135 270
200L 30 25 22 185 15 6 1160 837 220 60 % 1.68 370
225M 40 33 30 25 22 6 1170 102 260 70 5 2.70 440
250M 50 40 37 30 25 6 1170 129 290 75 3.50 580
250M 63 50 45 37 33 6 1174 157 340 78 4.85 630

280M 75 63 95 45 37 |8 875 210 330

315M 100 85 75 63 50 8 380 265

315M 125 100 90 75 63 38 882 345

| ol W“ .

1 BHEERA0%EDEH A%
2. HLfib%ED:2 =X BB B{EB40%EDE

Ol Ht u o c—
I2 (X%ED) = I2 (40%ED) X———

4. B{EE NN BITEF

R — e ——— "

'mm*-an:r -

TECO ?x%’l‘;&ﬂszfnﬁﬂﬂ"‘

BEEEEE  althmaREEEIZ 1551082
TEL: (02) 6615-9111 FAX: (02) 6616-2503 http://www.tecomotor.com.tw




